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Note: Attempt questions from all Sections as per directioil$.
I

Sectiotr*A

Attempt all parts of this section. Answer in hrief.

{2xI0*20)

What is cross coqpiler?

whal do you mean by a regular expression?

State the problems associated with the top down
parsing.

Differentiate quadrupled' and triples,.'

QI. (a)

(b)

(c)

(d)
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I

(e) Differe'ntiate beween compilers and il€rPr:ers

(0 How YACC can k t'seA to gqryn'atp parser? ,

(s) Detuc DAG

O) Discrlss the sub set corstruction algorithm'

Ie rob of left rccursiod
(1) What is tl

he challe'nges in comPilo assigl'
(!) Discuss u

Secden.B

- ftve querfions fiom thls *tur,r*,
2. AftemPt anY

(o) Constrr$ an SLR (1) parsing table for tbe following

gra@

S-+A)

A+ Ao P) (P' P

P -t {nnrn' uwn}

O), Give the algorithPP' 1y** 
ptecedence fimctioo'

Consirkr tbe folowsg""t*t iotot*t *ox to"'

pn*'a*t Saph *O **pot" the precede'nce furc-
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(c) Define backpatching and semantic rules for Boolean

expression. Derive the tluee address code for ttre

following sxpression

(d) Gener ate three address code for the following code

switch a+b

t
t

case 1: x *1*l

case 7: Y* Y+2

case 3: 7=a*3

default :c:c-I

)r

P.T.O.

250s/13 I 496t 1 2400



(e) construct the LALR parcing table for following

graffiI}lr:

S-+AA

A-+aA

A-+b

';.

0showthatffifollowinggramrnar

S-+AalbAclBelbBa
A-+d
B-+d
is LR (1) but not LALR (1)

(g) what are lexical phase elrors, syntactic phase elrors

and semantic phase errors? Explain with suitable ex-

ample.

(h) Describe synbol tab$ and its entri€s. Also discuss vari-

ou$ data stnrcture used for symbol table'

Sec{ion-C

Attem pt nrry two questiors from this section. (15x2=30)

3. How DAG is different &om $yntax Tfee? Construct the DAG

for the following basic blocks'
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4.

a:=b+c

b:=b-d

g.=g*d

e=b*c

*,:

Also explaiu the key'epplications of DAG

consider the following sequsnce of three address codes:

1. Ptod: =S

2. I: r]

3. T1:=4*I

4. T2::addr (A)-4

5. T3:=T2 ITU

6. T4:=addr (B)-4

7. T5:=T4 [T1]

8. T6:=T3*T5
i

9. Prod: =Prod*T6

,i .

I

\-
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5.

10: I=I*1

If I<=20 goto {3)

Perform LooP Optimization'

Write short notes: 
^,

(i) Global Data Flow Analysis

(ii) LooP Unrolling

(iii) LooP Jamming
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